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Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five questibnsi o 2X5_¥10
-GG #iofl e T e
a) Define Sports Manager.
. AT e NG |

b) What do you mean by Bye?
a2 eite R R

c¢) What do you mean by Annual Athletic Meet?
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d)  What do you mean by Gymnasium?
it Iets & @Rie
e)  What do you mean by Leadership?
PRI J&0e & @RI 2
f)  What do you mean by Extramural competition?
Mzt afSrife: e & @rte
g) Whatis Play Day?
™ e
h)  What do you mean by Tournament?
AT FEce I Qe
Answer any two questions: : | 5x2=10
-1 o A0 TR 7S

a) Write about concept of Sports Management.

Mention the duties of a Sports Manager.
2:43=5
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b) What do you mean by fixture? Mention the types

‘of tournaments. ‘ o 2+3=5
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¢)  What do yoy mean by standard athletic track?
Mention the importance of school’s physical

education time table. 2+3=5

anwmmﬁsm?ﬁﬁnm
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*d) . What is Penalty? Write about types of
leadership. 2435
| CATID R 2. CTEAITR SRPRITSR TT=GE (X |
- . Answer any two questions: 10%2=20

Q- S s Teawie ¢
a) What.is Sports Management? Write a note on
principles of Sports Management. 2+8=10
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b)  What do you mean by Knock-out Tournament?
Draw a fixture of a Volleyball Knock-out
Tournament where the number of teams is 18.

2+8=10
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: é) What do you mean by Antenna? Draw a 400 m

track without lane. 2+8=10
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d)

302/P.Edn.

What do you mean by Bonus line? Write in detail
about principles of leadership activities.
2+8=10
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